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Pocus Queshiont: “\F ol 4viange witn side len

a,b and “e sahshies tne “velahonship
at+ %> =, s e triangle a
right +riangle o

®

Side Lengths Do the side lengths satisfy

Is the triangle a right
(units) a% + p2 = 24 triangle?
3,4,5

A+ = 25 ¢ Nes
51213 2% & WY = W9 ves Nes
5610 125 +3w # 100 png no
6810 13w 4+ bd = 100 ves Nes
‘44 (Wt W W o no
e V44 #Y4 o no

l- 1§ o triangle’'s side |e,n9*has Sa’n‘slll ne
| redafionship a? +b? = 7 den  the +riangle
IS o ri9h+ -I'Viangle...

2. \§ o driang\e's side lengﬁs do no+ Sa‘h's%
e Yelanonsnip a* +h*=c?) then “the
Triangle 18 nob a ri3h+ triangle.

3, Sides 4,4, and 4 * all sSides are eaqual)
! whith  meoans  all angles

e are edual , whith means
W all thvee angles are GO
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@ . 12, v and 20 @ Nes: (12)* +(lb)" : (200*
44 & 250 = 400

4oo = 400

2. $,15 and 11 @ Nes: (%)* + (15)* 2 (10)?

e
L
-
-
=

wd + 225 2%9
284 | =23/
3.12,4 and W =¥ No:  [12)* + (a)* £ (1u)?

M4+ 31 = 250

225 # 2SuL
4.
Triang\t Fom OGwestion A: 3 4,5

;ré at « bt ""'(zz o= 3

5 ST
TG @ (5 e=5

: 3 A + W, = 25

25 = 25

Triongle from  Gueshon C using  scale Factor :
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5. Yes, Laeka 1S corve
_ cb. Hev use of n
?\Vt\;;”gzsisi‘ﬁuas the 1295, and e ‘th(idb:fcc)\o
e L relatonsip as e Pytnagovean

®

&
Only right tviangle possibility:

t 2,02 -
! 2*3 4t = 5t 12-1=
Q4+l =235 i

125 =25V
2+d 45 =\2
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@ 2. Possible answer: 2,5,5
= 2I-+ 5" # 52

248+5 =12 3

2,5 and S make an
acute 4vian lt; no+
a right Yvidngle.




